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Unit 11
Choose the letter of the best answer.  
____ 1. How did Great Britain react to the Continental System?


a. It invaded France.




c. It smuggled goods onto the European continent.

b. It negotiated a peace agreement with France.

____2. Napoleon was successful in restoring order at home, including

a. removing taxes.


c. executing anyone who opposed his rule.

b.   establishing a system of law
____3. What incident at Napoleon’s crowning as emperor clearly established him as more powerful than the Church?
a. He had the pope crown him emperor.

b. He had his father crown him emperor.

c. He crowned himself emperor.

____4. What strategy did Czar Alexander I use to defeat Napoleon in Russia?

a. endless negotiations
b. scorched-earth policy
c. frontal attack

____5. The French people supported Napoleon Bonaparte because they hoped he would 
a. adopt the ideas of the Protestant Reformation 
b. restore Louis XVI to power 
c. provide stability for the nation 
Select the letter of the term, name, or phrase that best matches each description.  

A. Hundred Days


B. Continental System
C. Battle of Waterloo


D.  Peninsular War

E. Scorched Earth Policy
 F. Guerilla Warfare
G. Blockade

6. In 1806, Napoleon attempted to make Europe more self-sufficient through the use of what he termed the _________________.

7. French actions in Spain led to a long and draining conflict called the _________________.

8. Napoleon’s last bid for power was called the _________________.

9. Napoleon’s last bid for power ended with his defeat at the _________________.

10. ________________ was the strategy used by the Spanish in the Peninsular War.

11. A __________ is the use of troops or ships to prevent commercial traffic from entering or leaving a city or region.

12. The Russians used the _________________________ as they were retreating where they burned all vegetation so the enemy would have nothing to live on as they advanced.
Choose the letter of the best answer
____ 13. What was Napoleon able to accomplish during peacetime?

a. a complete system of laws


b. a fairer tax code


c. both of the above

____ 14. What geographic advantage helped Britain resist conquest by Napoleon?


a. It was farther north

b. It was larger

c. It was an island
___

____ 15. Which country did Napoleon invade that ultimately destroys a large percentage of his army?



a. Russia

b. Spain

c. Great Britain

d. Prussia
____ 16. Napoleon gained power in France in 1799 by


a. promising to invade Russia


b. overthrowing the Directory in a coup d’état 

c. executing Robespierre

____  17. The Continental System restricted


a. trade with Great Britain

c. freedom of speech and of the press


b. the rights of women

____ 18. Why was Napoleon’s delay of the retreat from Moscow such a great mistake?


a. his soldiers died from injuries, hunger and exhaustion


b. Napoleon lost all his ways of traveling


c. Napoleon made a trade with Russia


d. Napoleon killed every Russian soldier

____ 19. In order to create a solid economy for France, Napoleon created


a. an efficient system to collect taxes


a national bank


a stable government to support the economy

d. all of the above

____ 20. Napoleon’s navy lost control of the seas when it was soundly defeated by the British at the


a. Battle of Austerlitz


c. Battle of Trafalgar


b. battle of Waterloo


d. Battle of Valley Forge

____ 21. Napoleon Bonaparte rose to power as

a. A liberal who supported the Third Estate


b. A military hero


c. An enemy of Robespierre


d. A supporter of Marie Antoinette
____ 22. Which factors helped cause the defeat of Napoleon during his Russian invasion?

a.  severe winters and large size of Russia


b. the many rivers and mountains of Russia


c. the coalition between Russia and democratic leaders


d. well trained Russian armies
____ 23. At the Congress of Vienna, the governments of Europe reacted to the French Revolution and the rule of Napoleon by attempting to

a. return Kings to power (Legitimacy)

b. spread the idea of democracy


c. encourage nationalist movements

____ 24. Which list of French leaders are in the correct chronological order?

a. Louis XVI, Napoleon and Robespierre


b. Robespierre, Napoleon and Louis XVI


c. Louis XVI, Robespierre and Napoleon
True or False

____ 25.  Napoleon eventually became a dictator.

____ 26. The French won by using guerilla warfare tactics against the Spanish peasants.
____ 27. In 1804, the Pope crowns Napoleon King of France.
____ 28. After the overthrow of the Directory in 1799, Napoleon had himself named First Consul.
____ 29. Napoleon limited the rights of the individual in order to maintain order.

____ 30.  Mrs. Cooper’s favorite major league baseball team is the Red Sox. (Yes, it’s true!)
